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QUESTION 1

Which storage solution supports access control lists (ACLs) at the file and folder level?
A. Azure Data Lake Storage

B. Azure Queue storage

C. Azure Blob storage

D. Azure Cosmos DB

Correct Answer: A

Azure Data Lake Storage Gen2 implements an access control model that supports both Azure role-based access
control (Azure RBAC) and POSIX-like access control lists (ACLS).

Reference: https://docs.microsoft.com/en-us/azure/storage/blobs/data-lake-storage-access-control

QUESTION 2
HOTSPOT
For each of the following statements, select Yes if the statement is true. Otherwise, select No.

NOTE: Each correct selection is worth one point.

Hot Area:
Answer Area
Statements Yes No
Stream processing has access to the most recent data received 0O e

or data within a rolling time window.
Batch processing must occur immediately and have latency

: o O O
in the order of seconds or milliseconds.

Stream processing is used for simple response functions,

aggregates, or calculations such as rolling averages. O O

Correct Answer:

DP-900 VCE Dumps | DP-900 Practice Test | DP-900 Exam Questions 215


https://www.passapply.com/dp-900.html
https://www.passapply.com/dp-900.html
https://www.passapply.com/dp-900.html

VCE & PDF https://www.passapply.com/dp-900.html
2024 Latest passapply DP-900 PDF and VCE dumps Download
PassApply.com

Answer Area

Statements Yes No

Stream processing has access to the most recent data received | | 0O
or data within a rolling time window. e~

Batch processing must occur immediately and have latency

: . O

in the order of seconds or milliseconds. | O
Stream processing is used for simple response functions,

aggregates, or calculations such as rolling averages. O 0|

Reference: https://docs.microsoft.com/en-us/sql/relational-databases/polybase/polybase-guide?view=sql-server-verl5

QUESTION 3

Which type of non-relational data store supports a flexible schema, stores data as JSON files, and stores the all the data
for an entity in the same document?

A. document
B. columnar
C. graph

D. time series

Correct Answer: A

QUESTION 4

For each of the following statements, select yes if he statement is true, Otherwise select No. NOTE: Each correct
selection is worth one point.

Hot Area:
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Yes No

Azure Databricks can consume data from Azure SQL Database. C)| 1)

Azure Databricks can consume data from Azure Event Hubs. O 1O

Azure Databricks can consume data from Azure Cosmos DB. OO

Correct Answer:

Yes No

Azure Databricks can consume data from Azure SQL Database. ol

Azure Databricks can consume data from Azure Event Hubs. O =
Azure Databricks can consume data from Azure Cosmos DB. - e
QUESTION 5

A bank has a system that manages financial transactions.

When transferring money between accounts, the system must never retrieve a value for the source account that reflects
the balance before the transfer and a value for the destination account that reflects the balance after the transfer.

Of which ACID semantic is this an example?

A. atomicity

DP-900 VCE Dumps | DP-900 Practice Test | DP-900 Exam Questions 4/5


https://www.passapply.com/dp-900.html
https://www.passapply.com/dp-900.html
https://www.passapply.com/dp-900.html

VCE & PDF https://www.passapply.com/dp-900.html
2024 Latest passapply DP-900 PDF and VCE dumps Download
PassApply.com

B. isolation
C. durability
D. consistency

Correct Answer: B
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